

MAR 12 2020

Montana Public Service Commission Motor Carrier Annual Report

MONT. P.S. COMMISSION

Report must be filed on or before March 31st each year

All annual report filings must be signed by an owner or officer of the company and notarized by a notary public. (oath page)

Carrier Name (EXACTLY AS SHOWN ON PSC	Historic Tow Co	mpany, LL	
AUTHORITY)			
PSC Number	9270	See Gene	eral Instruction # 5
See Ger	neral Instruction # 1		
Reporting Year	2019		
	iod (if other than // // // // // // // // // // // // //	yy to mm/yyyy forma to	<u>t</u>
CARRIER ADDRESS	POBUL 325		
	City Vivonia City Stat	e MT	Zip 59755
YES NO	(address at which you now re-	psc)?	e and other materials from t
YES NO	in the answer to the above q	uestion is NO do you ged to that shown al	그러는 말이 되어 되어 살아가 이번 얼룩 생각이라면 하면 보고 있는 사람이 얼룩하게 되는 것 같아. 아이들을 얼룩하나요요?
Carrier e-mail address	s. meelintie@yahoo.a	optiona	Ĭ ı
Name Phone Number E-mail Address	Person Completing Report 644 Krsson 406-600-2599 dudley raydoo, ca	optiona	i .
YES NO If NO See Gen instruction #	PASSENGERS, HOUSE eral THE FILING PERIOD?	IOLD GOODS OR G	ARBAGE DURING
	Transportation Div	선생님이 (1)	

Transportation Division
1701 Prospect Avenue / PO Box 202601
Helena, MT 59620-2601

PSC# Year	2018		
and etc.	C/O/A	SCHEDULE 1	
_		SCREDULE I	
		INCOME STATEMENT	
	0 " "	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	
	Operating Re		
1.	Intrastate Revenue		25,089
2.	Interstate Revenue		
3. 4.	Non-Regulated Revenue TOTAL REVENUE		
7.	TOTAL REV	ENUE	
	-		
	Expenses	000	13 2
5.		s—Officers & Supervisory Personnel	13,200
	Salarie	s & Wages	
6.		Clerical & Administrative	
7.		Drivers & Helpers	
8.		Cargo Handlers	
9.		Vehicle Repair & Service	
10.		Other Labor	
	Other	Fringes	
11.		Payroll Taxes	
12.		Workman's Compensation	
13.		Pension & Welfare Expenses	
1.4	Operat	ing Supplies & Expenses	
14.		Fuel for Motor Vehicles	1,210
15.		Vehicle Parts	0,045
16.		Other Operating Supplies & Expenses	0.00-
17		General Supplies & Expenses	2,395
10	Operat	ing Taxes & Licenses	
18.		Gas, Fuel and Oil Taxes	
19.		Real Estate & Personal Property Taxes	
20.		Vehicle License & Registration Fees	- 107.00
21.	•	Other Taxes	735
22.	Insura		1,633
23.		unications & Utilities	
24.	Depred	ciation & Amortization	7.30
25. 26.		Revenue Equipment	6,786
۷٥.	Down 1	Other	
27	Purcha	sed Transportation	
27. 28.		With Driver	
28. 29.		Without Driver	
29.		Other Purchased Transportation	
30.	Buildi	ng & Office Equipment Rents	
31.	Gain o	r Loss on Disposition of Operating Assets	
32.		Ianeous Expenses	125
33.	TOTAL EXP	ENSES	
			32,029
34.	NET INCOM	FORLOSS	6,940

PSC#	4770		
Year	2019		
		SCHEDULE 2	
		BALANCE SHEET	
		(ASSETS)	
	CURRENT A	SSETS	
1.	Cash	& Working Funds	586
2.		al Deposits	
3.	Temp	orary Cash Investments	
4.		Receivable	
5.	Accou	ints Receivable	
6.	Prepay	yments	
7.	Mater	ials & Supplies	
8.	Other	Current Assets	
9.		TOTAL CURRENT ASSETS	
	TANGIBLE I	PROPERTY	
10.		r Operating Property	29000
11.	- Janne	Less: Reserve for Depreciation	-29000
12.	Carrier Operating Property Leased to Others		0 /, 0 0 1
13.	Less: Reserve for Depreciation		
14.	Non-Carrier Operating Property		
15.	1,5.1. \$	Less: Reserve for Depreciation	
16.		TOTAL TANGIBLE PROPERTY	ø

		E PROPERTY	170 1 100
17.	Organ	ization, Franchises & Permits	80,499
18.		Less: Reserve for Amortization	-30,131
19.	Other Intangible Property		
20.		Less: Reserve for Amortization	2/ D
21.		TOTAL INTANGIBLE PROPERTY	50,368
22.	Total Investment Securities and Advances		
23.	Total Special Funds		
24.	Total Deferred Debits		
25.	TOTAL ASS	ETS	50,954

PSC#	4770		
Year	2019		
		SCHEDULE 2	
		BALANCE SHEET	
		(LIABILITIES)	
	CURRENT LIA		
26		able & Matured Long Term Obligations	*
27	Accounts		
28	Wages Pa		
29	C.O.D.'s	Unremitted	
30	Taxes Ac	crued	
31	Interest A	ccrued	
32	Matured I	nterest	
33	Other Cur	rent Liabilities	
34		TOTAL CURRENT LIABILITIES	
	LONG TERM I	DEBT DUE WITHIN ONE YEAR	
35		t Obligations and other Debt	
	LONG TERM I	DEBT DUE AFTER ONE YEAR	
36	Advances		
37		at Obligations	
38	Equipilie	Less reacquired and nominally issued	
39	Other Lor	ng Term Obligations	
40	Other Bor	Less reacquired and nominally issued	
41		TOTAL LONG TERM DEBT	
		TOTAL LONG TERM DEBT	
42	Total Def	erred Credits	
43	Total Res		
43	Total Nes	cives	
	SHAREHOLDE	ERS' (OR PROPRIETORS') EQUITY	
44.		ital Stock	67 99U
45		prietors' Capital	26.840
46		ained Earnings	-6,140
47	Total rec	TOTAL SHAREHOLDERS' (OR PROPRIETORS') EQUITY	
		TOTAL SHAKEHOLDERS (OKTROTKIETOKS) EQUITI	
48	TOTAL LIABI	LITIES & SHAREHOLDERS' (OR PROPRIETORS') EQUITY	Chach
10	TOTALLIABI	THES & SHAKEHOLDERS (OK PROPRIETORS) EQUITY	50,954
-			
	DO TOTAL AS	SETS EQUAL TOTAL LIABILITIES & SHAREHOLDERS' (OR	
		ETORS) EQUITY? IF NOT PLEASE REVIEW AND MAKE	
	FROPRI	CORRECTIONS	
-		CORRECTIONS	

PSC #	9270
Year	
	SCHEDULE 3
	INTRASTATE OPERATING REVENUE
Complete the followi	ng Schedule reflecting intrastate operating revenue.
	INTRASTATE REVENUE
Household Goods	
Passengers	25,089
Class C	0 5,001
Class D (Garbage)	
Class D carriers not twenty (20) customer.	T HAVING \$5,000 gross revenue from Class D transportation go to Schedule 4 generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5.
Class D carriers not	generating \$5,000 gross revenue From Class D transportation or serving
Class D carriers not twenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5.
Class D carriers not wenty (20) customer. FOTAL NTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not wenty (20) customer. FOTAL NTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not wenty (20) customer. FOTAL NTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not wenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not wenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not wenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not wenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not twenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount
Class D carriers not twenty (20) customer. FOTAL INTRASTATE	generating \$5,000 gross revenue From Class D transportation or serving s each month, go to Schedule 5. 25,089 Note: Total Intrastate Revenue must equal the intrastate revenue amount

PSC # <u>9276</u> Year <u>2019</u>	DATH
STATE OF	
	SS.
County of	
motor carrier; that I have carefully examined the same of the business and affairs of said motor carrier in responses to f my knowledge, information and belief; and I fur gross earnings or receipts herein set forth except those	of the motor carrier, above named, on my oath say direction, from the original books, papers and record of said and declare the same to be a complete and correct statement ect to each and every matter and thing therein set forth, to the orther say that no deductions were made before stating the shown in the foregoing accounts; and that the accounts and of the financial operations of said motor carrier during the
	(Signature of owner/officer/authorized representative)
SUBSCRIBED AND SWORN to before me	this 9th day of March, 2020.
(SEAL)	Notary Public In and for the State of Montana
MEGAN M. ELLIS NOTARY PUBLIC for the State of Montana Residing at Alder, Montana My Commission Expires May 07, 2023	Residing at Madisov